<o @> (rad)

< 00, > (M)

< op/p. > (o)

Ratio

o
[N

o
=
[6)]

< o cot(y) >

o
N

.....................

P SUUUR I TN R O I

o :

1 b : : : S b

---eee R S K R O RS £ B8 | SEER B & 2 1| RERE @ 2 3
osfeeeee L L 13
3 -2 -1 0 1 2 3 3 -2 ) -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

RatioI

—=— DQM_CKF_TTbase
—— DQM_mkFit_TTbase
100y E E : £ 100 E E
80F---ti--tH-- B -1 RS 2 8of 1 ‘
o A E f i
60F -+ ' 60F 1 ¢
r e r q 1
A0t TR EFFR T E TR T v 40 . i i
20F-+- BT e 20F- f :
O~ AR AR R AR - OF- I+ Hli f«
=20ttt R ~20F- s lItRiti
—40F---4tt-- et B LR L -40F | it :
~60f---- T AR ~60F- : i
~80F -t EHRE- TR T (- -80F 5
1@05....|||I||||I||||I||||!|||| -Q_loo:uuuu||||I||||I|||I||||I||||
E 5 T A A e
1F--- [ - B x [
0.5 netenn 14 | - 2 R 11 O A I S AR
O: . | d . 8 0- H H H nolA H
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3

TP n (PCA- to beamline) TP n (PCA to beamline)

5 ! ! !

aE-|
31l T ] Al T
2F- [
i {linlla

—lz— d ¥ oy b
Bl e
b llll LI L |

EE S

0 1 2 3
TP n (PCA to beamline)

[T
|

N
|

[



	Contents
	Page 1


